Name:

Grade:

Score:

ahs" Worksheet #5

MeandMath

(Candles in a Jar Word Problem)

Learmng goal: Students will be able to read and comprehend the story
apply the concept of addition to solve them correctly.

sums an

iProbIem #1: Tina has 9 candies in a jar. She
'buys 3 more. How many candies does she
I have now?

_______________________________________

|Prob|em #3: Abhinaya has 9 candies in
.Jar She buys 3 more. How many candies
1

Idoes she have now?

o -

_______________________________________

.Problem #5: Alesha has 9 candies in a jar.
'She buys 3 more. How many candies does
i she have now?

o e

i Problem #2: Sarah has 9 candies in a jar.
! She buys 3 more. How many candies does
| she have now?

_______________________________________

i She buys 3 more. How many candies does
1
I she have now?

o ———

_______________________________________

. Problem #6: Manu has 9 candies in a jar.
' She buys 3 more. How many candies does
I she have now?

A e e

: Problem #4: Dhanya has 9 candies in a jar.




Name:

Grade:

Score:

oy Worksheet #5 (Answers)

MeandMath

(Candles in a Jar Word Problem)

Learmng goal: Students will be able to read and comprehend the story
apply the concept of addition to solve them correctly.

sums an

iProbIem #1: Tina has 9 candies in a jar. She
| buys 3 more. How many candies does she
Ehove now?

ESolu’rion:

iTino has 9 candies.

| She buys 3 more.

iToTcl number of candies = 9 + 3 =12

iTina has 12 candies.

o

A e e e

|Prob|em #3: Abhinaya has 9 candies in a
.Jar She buys 3 more. How many candies
idoes she have now?

iSolu’rion:

iAbhinoyo has 9 candies.

'She buys 3 more.

ITotal number of candies = 9 + 3 = 12
Abhinaya has 12 candies.

o

_______________________________________

.Problem #5: Alesha has 9 candies in a jar.
'She buys 3 more. How many candies does
:she have now?

ESolu’rion:

EAlesho has 9 candies.

1 She buys 3 more.

ETo’ral number of candies =9 + 3 =12

i Alesha has 12 candies.

o e

i Problem #2: Sarah has 9 candies in a jar.
| She buys 3 more. How many candies does
E she have now?

E Solution:

i Sarah has 9 candies.

| She buys 3 more.

i Total number of candies = 9 + 3 =12

i Tina has 12 candies.

o

_______________________________________

i She buys 3 more. How many candies does
i she have now?

i Solution:

i Dhanya has 9 candies.

i She buys 3 more.

iTo‘ral number of candies = 9 + 3 =12

i Dhanya has 12 candies.

P T

_______________________________________

. Problem #6: Manu has 9 candies in a jar.
' She buys 3 more. How many candies does
: she have now?

i Solution:

i Manu has 9 candies.

| She buys 3 more.

i Total number of candies =9 + 3 =12

i Manu has 12 candies.

P

A e e

: Problem #4: Dhanya has 9 candies in a jar.




